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The hydrologic flood-routing methods use
(a) equationof continuity only
{b} bothmomentum and conlinuily equalions

'{c) energy equationonly

(d} equation of motion only

Thae hydraulic methods of lload routing use

{8) equation of continuity only

{b} bothihe equation ol molion and equaucn of
conlinuity

(c) cnergyequationonly

{d) equalion of motion only

The St. Venant aquations for unsleady cpsn
channelflow are

{a) conlinuity and momentum equalions

{b) momentum equation in two dillerant farms
{c} momentumand enargy equations

{d) energyand continuity equations

The prism slorage in a river reach during the
passage of a flood wave is

{a} aconstant

{b} negative during fising phase

(c} functionof inflowonly

{d} funclion ol cutliow only

The wedge slorage in a river reach during the
passage of a fiood wave is

(3} aconstant

{d} negative duringrising phase

{¢) posilive during rising phase

{d} posilive during falling phase

in routing a flood through a reach, the peint of
intersection of inflow and outflow hydrographs
coincides with the peak of outilow hydragraph
{a} inall cases of floud routing
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Flood Routing

() whenine inflow is inlo a reservolr with an
uncontrolled outlal

{c) in channel rouling only

{d) in all cases of reservair souling

Which of the following is a proper reservoir
routing zqualion?

@ —(f -J,)m(s +%] [s. 2‘“]

o) (:.«h:)AH(ES—-O) (%4—0;]
{c) -—( +l,)At+[S ——qzﬁl—) [S,+-O-3291)

{d) (":4-"1:»)"'(‘2;387“0:} (237 "'02.)

The Muskingum method of ltood rouling is @

{a} form of resarvoir routing method

{6} hyd-aulic routing melhod

{c) complele numerical solution of §t. Venanl
equations

{d) hydratogic channel routing method

The Muskingum melhod of llood rouling assumes
the slorage Sisrelated woinllow rate apd outllow
rate OQofareachas 5=

(8) Kix/-(1-x}0) {&) KixO+{1-2{]

(©) Kixl+{1-20} {d} K[I-(1-20]

The Muskingum method of flood rouging gives
0, = Cyfy+ Cdy + C,Q,. The coeflicients in this
equalion wif] have values such that

fa)y G+C=C,

B Co-C-Cy=1

€ G+C+C=0

¢} G+ 0, +Gy=1
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The Muskingum channgl routing aqualion is
written [or the outtlow from the reach Qin terms
of Iha inflow J and coeliicients C,, C, and C, as
fa} Q,=Coy+C\Q,+CJ,

(0) Qp=Coly+ Cly + G0,

© Q=Cyly+ Cify+ Gyl

() Q,=CoQy+ CO + Gty

In the Muskingum method of channel rouling,
the routing equation is wrilten asiQ, = Cf, +
Cyl, + £, If the coeflicients K =12 handx =
0.15 and the tima slep lor routing At = 4h, the
coeliicient Cjis
(a) 0016

c) 0328

{b) 0048
{d} 0.656

In the Muzkingum methed of channel rouling.
the weighing factor x can have a value

(a} between-0.5t005

() benween0.0t00.5

(c) beiween0.010 1.0

(d} between-1.010+1.0

In the Muskingum method of channel routing, if

x = 0.5, il represants as outflow hydrograph

{a) 1hathasreduced peak

(b} with an amplified peak

{c) 1hat is exaclly Lhe same as the inllow
hydragraph

{d) witha peakwhich is exactly hall of the infiow
peak

) the storage 8, inflov rate 7 and outfiow rale C
for a river reach is weillen as
S=Kfd" + (1 -x)Q}

lhen
{a) n=0represenis storage rouling through a

reservoir
(b} n=1represenis lhe Muskingum method
{c) n=0represents tho Muskingum method
{d) n=0represenis alincar channel

Alincar reservoir 1s the one inwhich

(a) valume varies lingarly with elevation

(b} storage varies linearly with the oulltow ralc
{c) storage varies lincarly wilth lime

{d) storage varies linearly with the inflow rale
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Anisochrane is a line on Lhe basin map

{a) joining rainguage stalions with equal raintall
duralion

(b} ioining poinls having equal standard time -

(6) connecting poinis having equal lime of lrave!
ol the sufface runoll Lo the calchment outlot

{d) hat connects points of equal rainlall depth
in a given ime interval

Due to fleod routing

{a) peak of he hydragraph {of llood) gets
reduced in size and accurs earlier in ime

(b) peak of the hydrograph ol llood gets
reduced in size and gels defayed in lime

{c) peakollhe hydrographis increased insize
and time of base of hydrographis increased

(d) peakof lhe hydrographis decreased in size
and time of base of hydrographis decreased

Match List-l wilh List-Il and select \he correct

answer using the codes given below the lists;

Lisl-l

Reservoir rouling

Hydraulic rouling

Channelrouting

Hydrologic routing

List-i

Solution of equalion of continuily

Solution of St. Venanl's equalions

3. Slorage is a unigue lunction of outflow
discharge

4. Slorage is a funclion of inflew as well as
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Codes:

ABCD
@ 3 2 4 1
o) 3 2 1 4
© 3 v 2 4
d 2 3 4 1

tatch List-l wilh List-It and select the correct
answer using the codes given below the lists:
List-l

Thiessen’s method

Thiem's salution

Laplace equalion

Muskingum methad

Sequenl peak algorithm
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Listll
1. Unsleady tlow in a well
2. Groundwater llow
3. Foodrouling
4. Reservair sloraga compulalion
5. Precipilalion
6. Wastershed simulation
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Match List-l with List-1l and sglect the correcl
answer using lhe codes given below the lists:
List-§

A. Blaney-Criddle equatxon
B. Shield's curve
C. Muskingum method
D. Nashmodel
List-l1
1. - Crannel routing
2, IUH
3. Initiation of sediment malion
4. Evapolranspiration :
Cades:
A B CD
fa) 4 2 1 3
b 4 3 1 2
fc) 3 41 2
@ 4 3 2 1

Assertion (A); Now-a-days, hydraulic melhods

of llood routing is used exlensively to route the

passage of flood in a river.

Reason {R): Wilh the use of present day

computers, the MNaivar-Stroke's equalion can be

solved lor the given boundary condilions, with

requisile degree of accuracy.

(a) Both A and R are ruc and Ris he carrecl
explanation of A

(b} Bolh A and R are true and R is nol lhe
correct explanalion ol A

(c} Aistrue bul Ris false

(d) Aistalse but Ris rue
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It f = inltow rate, @ = outflow rate, and
S = slorage in a reach, the conlinuity equalion
usad inflood routing is

(@) 1+Z—f=0

ds
{b) O-!-.-B?-

das
1+0+—=
ey 1+ +d1 c
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Itin a system, an inpulx (1) gives an oulpul y,(f).
and an inpul x,{{) gives rise o an outpul k(1)
the system is linear for an input [x,{1) + x,{i}
than which gives outpul as

@ yi+y  © pdwnE

€} vyt @) %, (0+x,0

Assertlon (A): In lavel pool rouling, tha peak of

Ihe auillow hydrograph must intersecl the inllow

hydrograph.

Reason (R): Inthe level pool rouung, the outltow

is a lunction ol the water surlace elevationin the

esevarr.

{a} bolh Aand R ara Irue and R is the correct
explanation of A

(b both Aand R are rua but Ris not a correct
explanallon of A

{¢) Aistrue but Ris lalse

{d) Aisfalse bl Ris ltue

Which of the following equation is used in
hydratogical itood routing?

(a) Energyequation

(b) Conlinuity equation

{e) Equation of motion

{d) Eotp (a) ang (c)

In case of channel routing, the storage is a.

{unction ol

{a} inflow discharge only
(b} outllow discharge only
{c} both(a)and (b)

(d) None ol the above

Flood Routing
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Floed Routing
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18,

{a)

0.54f - kx
= k+05at-ke

_ _05x4-12x0.15
T 12+0.5x4-12x0.15

! = 0016
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Discharge mits

(b) 2r.

Flood reuting is animportant iechnique necessary.
for the complete sclution of flood probletra When
a licod passes through a reservolr, il paak
reduces and it requires bigger times base, The *
reductionin pesk flow is called attenuation and
delayinocourrence of peakis calied fag'. Using

" flood routing lag and allenuation can: be‘.;.

delermined.
(o)

In reservolr routing, storage is aluncuor&
cutflow discharge only.




